B T JRLLLIPE T 1105 T S RIS
HEo& 8RR

4k : BUSE =4E B AP 2 FISUEEA : 202271
A T YARTEY ¢ 80
H HH 6H27H 6H28H 6H29H 6H30H TH1H 7H2H 7H3H
g [msrg | B2w— | m2e— | 2= | 2o | 28n | 2w | 2mn
i
i
0810 BT TE
| ~ EIES
0900 B =12/ =1
0910 BT ST
EE | ~ EIES
1000 =12/ =1
1010 e
EoE | ~ EIES
1100 B =12/ =1
1110 EEEa
EUUET |~ EIES
1200 B =12/ =1
‘ER
1305 EHR
EHE| ~ i 5%
1355 B =2%r =2/83
1405 EH
|~ i 5%
1455 B =2%r =2/83
1515 EH
| ~ i 5%
1605 B =2%r =2/83
1610
| ~
1700

BRI 2 AR B = 28 =008
R B SE SR = 1 20F 8T




B T JRLLLIPE T 1105 T S RIS

bt

4R

i o

4k : BUSE =4E B AP 2 EISUHEA © 2022/7/1
AIBEE 31 YARTEY ¢ 80
Bl 7848 | 7858 | 7868 | 7878 | 788H [ 7890 | 78210A
g [msrg | B2w— | m2e— | 2= | 2o | 28n | 2w | 2mn
i
i
0810 | BURAMET: | BURKETE | HURTETs | ISt | %
s ~ | mEE | mEE | EEE | mEs
0900 |E=12/E =1 BE=Z12/E =B Z 12/ =1 B =12/ =1
0910 | BURFSEr | BURTETs | ISR | BRI
soEm| o~ | mEE | mEE | EEE | mEs
1000 |BE=12E =1 =12/ =1 B =12/ = 1| B = 12/E =1
1010 | BISH%T: | IS | BT | BSEn
sz o~ | mEE | mEE | EEE | mEs
1100 |E=12E=1|E =12/ =1 B =12/ = 1| B = 12/E =1
1110 | BUEEZER | BIREFES | BEFES | BHEER
ST |~ | mEs | mEE | mEE | mEes
1200 (= 12/E= 1B = 12/E =1 Bl =12/ = 1| B =12/ =1
‘R
1305 | EH# 4% | EE 24 | BH2Lk | BRI | BRI
STE | ~ | BEx | B | sREs | spmsr | s
1355 [@=28 =2/ =28 = /B =20 = /B =28 = /B H =28 =2/8&E3
1405 | E#2 4% | EEZ4 | BH24% | S | BHRR
s |~ | B | BREx | sREs | spms | s
1455 [ =28 =2/E s =28 = /B =28 = /B =28 = /B H =28 =2/8E3
1515 | B2 4% | EEZ4 | EBH24% | SO | BROR
s | ~ | s | B | sREs | spmsr | s
1605 =28 =2/E s =28 =2/BEJH =28 = /B =28 = /B H =28 =2/8&E3
1610
)|~
1700

ERER AR [ER = 2@ =2 BF BT
*[ER B EHS = 1 267




B T JRLLLIPE T 1105 T S RIS
HEo& 8RR

B4R, B =4E T LT © ZH EIEIEET 0 2002771
A 12 YA 80

HHH TH11H TH12H 7H13H TH14H TH15H TH16H TH1TH
iz | msp | B2w— | 2= | 2= | 2egw | m2min | aws | 2me
L
Tt

0810 R H
B ~

0900

0910 | BWHLLK | BHLLK | B | BIILH
FTEI| O~ | EUEX | HUE | ERAEST | BRAESC
1000 [ =2 =vEdm =g =yaE=2g =yE{H =28 =2E3

1010 | E#RL4K | BRI | EHRLH | ERIK
B ~ Hi=9% BESL Iy BRES
1100 [ =2g =2/EJR =28 =B =28 = 2/EJH =28 =2/&E3
1110 | E#RL&K | BRI | ERLH | ERIK
SEVUET [ ~ Hi=9% BESL Iy BRES
1200 (=28 =2/EJR =28 =B =28 = 2/EJH =28 =2/&E3
EiR
1305
LA | ~
1355
1405
ARG | ~
1455
1515
Hi | ~
1605
1610
FNE | ~
1700

FERER ZARE =28 = 2 BT




B T JRLLLIPE T 1105 T S RIS

o B O
PELR, © B =4I T ¢ B EMSUETHA : 20227771
A 0 YARTEL 80
H HH 7HI18H 7TH19H 7H20H TH21H 7TH22H 7H23H 7TH?24H
g (x| 2w | 2= | 2= | 2o | 28n | 200 | 290
A
i
0810
| ~
0900
0910
B | ~
1000
1010
EEE | ~
1100
1110
SEUUET | ~
1200
Tk
1305
EHE| ~
1355
1405
EENET | ~
1455
1515
| ~
1605
1610
E | ~
1700




B T JRLLLIPE T 1105 T S RIS
Pt &k

PR ¢ B =

T - B

AEEE 0

i o

ENEL T

SRENEL -

2022/7/1
80

H

T1H25H

7H26H

1H2TH

7H28H

71H29H

71H30H

7H31H

SR fy

BN

=T

I

2

EiH=

2

BT

N

AHH

L

FHE

0810

0900

0910

1000

1010

1100

1110

1200

1305

1355

1405

1455

1515

1605

1610

1700




B T JRLLLIPE T 1105 T S RIS
HEo& 8RR

PELR, © B =4I T ¢ B EMSUETHA : 20227771
A 0 YARTEL 80
HHA SH1H SH2H SH3H SH4H SHS5H SHO6H SHTH
g (x| 2w | 2= | 2= | 2o | 2n | 200 | 290
A
i
0810
| ~
0900
0910
B | ~
1000
1010
EEE | ~
1100
1110
SEUUET | ~
1200
Tk
1305
EHE| ~
1355
1405
EENET | ~
1455
1515
| ~
1605
1610
E | ~
1700




B T JRLLLIPE T 1105 T S RIS
HEo& 8RR

PELR, © B =4I T ¢ B EMSUETHA : 20227771
A 0 YARTEL 80
HHA SH8H SHIH SHI10H SH11H SHI12H SH13H 8H14H
g (x| 2w | 2= | 2= | 2o | 28n | 200 | 290
A
i
0810
| ~
0900
0910
B | ~
1000
1010
EEE | ~
1100
1110
SEUUET | ~
1200
Tk
1305
EHE| ~
1355
1405
EENET | ~
1455
1515
| ~
1605
1610
E | ~
1700




B T JRLLLIPE T 1105 T S RIS
HEo& 8RR

PEAR - B = A 2 ENRIEHER © 2022/711
AEEE 0 18 HEEREL ¢ 80
HEA sHISH | 8H16H | 8H17H | 8H18H | 8H19H | 8H20H [ 8H21H
mix [msp | 2o | 2y | B2w= | 2w | 2w | 2w | 2
FEE
Tk
0810
B ~
0900
0910
BT ~
1000
1010
BT ~
1100
1110
SBUUET [ ~
1200
TR
1305 | L4 | B4R | T | EILK | BELLR
BHEI | ~ BRES BIESC BRIE X BIESC BREX
1355 [E=2& =B =28 =BIF =28 =yBEF =26 =2BIH =28 =2/E3
1405 | B 4 | B4R | T | EILK | BELLK
FNET | ~ BRES BIESC BRIE X BESC 5= 5%
1455 [FH =2 =yEH =28 =yFEH =28 = /BIH =28 = /B IH =28 =2/FE3
1515 | B4 | B | EILL | EILK | BELLK
B | ~ BRESC BIESC BRIE BIESC 5= 5%
1605 |[FH=2& =B =28 =2BIH =28 =yBEF =26 =BIH =28 =2/E3
1610 B4R | EiRAAR | EILR
B | ~ BEESC BIESC BEESC
1700 B =28 =/ =28 =2/ g =28 = 2/%3




B T JRLLLIPE T 1105 T S RIS
HEo& 8RR

AR B = 8 T ¢ B EMSUETHA : 20227771
AEE 12 YARTEL 80
H HH SH22H 8H23H 8H24H 8H25H 8H26H SH27H 8 H?28H
g (x| 2w | 2= | 2= | 2o | 28n | 200 | 290
A
i
0810 [ #&i:H
| ~
0900
0910 B | B | BERS | ERZK
B ~ gy | EEx | EESL | BB
1000 B = 2@ = 0/EE R =28 =2/ ek = 2&r =2/ ek =29 =2/3K3
1010 B | B | BRS | ERZK
B ~ gy | EEx | EEL | BB
1100 B = 2@ = 0/EE R =28 =2/ ek = 2&r =2/ ek =28 =2/3K3
1110 B | B | BERS | ERZK
U |~ gy | EEx | EES | BB
1200 B = 2@ =0/EE R =28 =2/ R = 2&r =2/ ek =29 =2/3K3
Tk
1305
EHE| ~
1355
1405
EENET | ~
1455
1515
| ~
1605
1610
E | ~
1700




